Stampede VXL (36076-1) Parts List

Parts shown in bold are optional accessories. Part categories and individual part listings are arranged alphabetically. Prices are shown in US Dollars.

Bearings & Bushings

4607
5116
1675
1985

1926
1726
1834
3934
1914R

3614
3619

1815
6716
3617

3615

3617R

2514
3613R
9950
5185
3677A
3677
3677X
3678

3678X

3678A

4976
5186A

5186

3725X

3627X

3628

2735
3622
3622A
3626

3725

3629
3623
3623X
3623A
5185
3677A
3677
3677X
3678

3678X

3678A

4976

Ball bearings (5X11X4AMM) (8)...ceerurierrieeriieeiiieeeieee e eeeee e
Ball bearings, blue rubber sealed (5x11x4mMmm) (2) .......c.cccvvvervennn.
Bushings, self-lubricating (5x11x4mm) (14)......... .
PTFE-coated washers, 5x8x0.5mm (20) (use with ball bearin

Body & Accessories
Antenna caps, vinyl (2)/ antenna spool .
Antenna, tube (1)/ vinyl antenna cap (1)/ wire retainer (1) ..............
Body clips (12) (standard size)
Body clips, heavy duty (12)
Body mount, front & rear (black)/ body posts, 52mm (2),
38mm (2), 25mm (2), 6.5mm (2)/ body post extensions (2)/
NArAWAre ......coiiiiiii e

Body mounts (front & rear)
Body mounts, front & rear/ body mount posts, front & rear
(adjustable)/ 2.5x18mm screw pins (4)

Body WAShers (8) .......c.cocuiiiiiiiiie i

Body washers, foam, 2mm (2)/ 3mm (2)/ 4mm (4)......cccccerivennn. $2.00
Body, Stampede (clear, requires painting) (requires #3614 to

INOUNT) 1ttt $25.00
Body, Stampede VXL, ProGraphix (replacement for the

painted body. Graphics are printed, requires paint & final

color application)/ window, grill, lights decal sheet................... $34.99
Body, Stampede VXL, ProGraphix (replacement for the painted

body. Graphics are printed, requires paint & final color

application)/ window, grill, lights decal sheet.............cccooeiiiiienns $34.99
Decal sheet, racing sponsors............ $3.00
Decal sheets, Stampede VXL.........cccoovvviiiiiiiniinnns $11.00
Official Team Traxxas racing decal set (flag logo/ 6-color)....... $4.50
Tires, rubber (2) (fits Traxxas wheelie bar wheels).................... $7.00
Wheelie bar mount (1) / hardware (green) .......coccceevveeeiieeereeennns $4.00

Wheelie bar mount (1)/ hardware (black) ....
Wheelie bar mount (1)/ hardware (blue)
Wheelie bar, assembled (black) (fits Slash, Stampede, Rustler,

BaNGit SEMES) ..evveieiiiiiiie ettt
Wheelie bar, assembled (blue) (fits Slash, Stampede, Rustler,
Bandit series)
Wheelie bar, assembled (green) (fits Stampede, Rustler,

Bandit series) $15.00
Wheels (4)/ Axles (2), for Maxx wheelie bar $4.00
Wheels, aluminum (blue-anodized) (2)/ 5x8mm ball bearings

(4) axles (2)/ rubber tires (2) .....cecvevereeeiieireire e $19.95
Wheels, aluminum (red-anodized) (2)/ 5x8mm ball bearings

(4)/ axles (2)/ rubber tires (2) .....cocovvvveoiniiiiiiiciiinee $19.95

Chassis & Attachments
Battery expansion kit (allows for installation of taller multi-
cell battery packs)....
Battery hold-down (grey) (1) / receiver hold-down (grey) (1)

metal posts (2)/ spacers (2)/ body clips (2)/ servo tape/ adhesive
FOAM PAA ...
Box, receiver (sealed)/ foam pad/2.5x8mm CS (4)/ 3x10mm CS

Bumper (front)..
Main chassis (black)
Main chassis (grey)
Mounting plate, electronic speed control/ receiver box (for

installation of XL-5/ XL-10/VXL and waterproof receiver box into

=0 1= 1= USSP $3.00
Mounting plate, speed control (VXL-3s) (Bandit, Rustler,

ST 00T o T=Te =) SRS $3.00
Seal kit, receiver box (includes o-ring, seals, and silicone grease). $4.00

Skid plates, front & rear (black)
Skid plates, front & rear (blue)

Skid plates, front & rear (Green).......ccccoveeriieeeieee i

Tires, rubber (2) (fits Traxxas wheelie bar wheels). $7.00
Wheelie bar mount (1) / hardware (green)......... $4.00
Wheelie bar mount (1)/ hardware (black) .... $4.00

Wheelie bar mount (1)/ hardware (blue)
Wheelie bar, assembled (black) (fits Slash, Stampede, Rustler,

Bandit SEMIES) ....uvevieuieieieie ettt $15.00
Wheelie bar, assembled (blue) (fits Slash, Stampede, Rustler,
BaNdit SEIHES) .eouvevieiiieieiiesie sttt $15.00

Wheelie bar, assembled (green) (fits Stampede, Rustler,
Bandit series)
Wheels (4)/ Axles (2), for Maxx wheelie bar

For assistance, call 1-888-TRAXXAS, or e-mail Traxxas anytime at support@Traxxas.com

5186A

5186

2381X

2382

2388X

5169
1647

4628R
4628X
6828X
1951R
1953
6752

6751
6850X

1951

6757

3752
3652A

3652G

3652X

2754
6753
2753X

3637
5116
2530
2530A
3632
3632A

3632G
3632X
3646
1844
3639
3736
3636A
3636G
3636X
3631
2640
3640

2532
3644

3645

Wheels, aluminum (blue-anodized) (2)/ 5x8mm ball bearings
(4)] axles (2)/ rubber tires (2).......cceevrviiiiiiiiieee e
Wheels, aluminum (red-anodized) (2)/ 5x8mm ball bearings
4)/ axles (2)/ rubber tires (2

Differential Components
Main diff with steel ring gear/ side cover plate/ screws (Bandit,
Stampede, Rustler)
Planet gears (4)/ planet shafts (4)/ sun gears (2)/sun gear
alignment shaft (1) all hardened steel....
Planetary gear differential with steel ring gear (complete) (fits
Bandit, Stampede, Rustler)
Screws, 2.6x8mm countersunk machine (6)...
Silicone

Differential output yokes, black (2)/ 3x5mm countersunk screws
(2)/ screw pin (2)
Differential output yokes, hardened steel (w/ U-joints) (2) .
Differential output yokes, heavy duty (2)/ screw pin (2)............
Driveshafts, rear, steel-spline constant-velocity (complete
assembly) (2) (fits 2WD Rustler/Stampede)..........cccceeverieneennen.
Half shaft pro-pack (internal-splined (6)/ external-splined (6)
(plastic shafts only)..
Half shaft, external splined (steel-spline constant-ve OC|ty)

(1) (fits 2WD Rustler/Stampede) ........cccccvevereieeieneieeieeseeenes $8.00
Half shaft, internal splined (steel-spline constant-velocity) (1). $6.00
Half shafts, heavy duty (external splined (2)/ internal splined
(2))) Metal U-JOINES (4) .ovveeiiiieiieiee e $8.00
Half shafts, long truck (external-splined (2) & internal-splined (2)/
Metal U-JOINES (4) ...uveeieiiieieee et 6.00

Rebuild kit, steel-splined constant-velocity driveshafts
(includes pins, dustboots, lube, and hardware)
Stub axle carriers (2) (requires 5x11x4mm bearings)
Stub axle carriers, Rustler/Stampede/Bandit (2), 6061-T6

aluminum (blue-anodized)/ 5x11mm ball bearings (4)......c........ $35.00
Stub axle carriers, Rustler/Stampede/Bandit (2), 6061-T6
aluminum (green-anodized)/ 5x11mm ball bearings (4)............. $35.00
Stub axle carriers, Rustler/Stampede/Bandit (2), 6061-T6
aluminum (red-anodized)/ 5x11mm ball bearings (4)........ccc..... $35.00

Stub axle pins (4)
Stub axle, rear, steel-splined constant-velocity (1)..
Stub axles, rear (2)
Stub axles, rear, heavy dut

AXIES (FTONT) (2)..veeeeeieieetieete e
Ball bearings, blue rubber sealed (5x11x4mm) (2)
Bulkhead (front) (black)
Bulkhead (front) (grey)

Caster blocks (1&r) (30-degree) ........ccoevveiieiienieiieceeeeeeeeee

Caster blocks, 30-degree, blue-anodized 6061-T6 aluminum

(left & right)/ suspension SCrew pin (2).......cccccveeveiienieieeieenns $24.00
Caster blocks, 30-degree, green-anodized 6061-T6 aluminum

(left & right)/ suspension SCrew pin (2).......ccccoveevvevieeineieeieenes $24.00
Caster blocks, 30-degree, red-anodized 6061-T6 aluminum

(left & right)/ suspension screw pin (2).... e ———— $24.00
Screws, 3x15mm flat-head machine (hex drive) (6).. $2.50
Servo saver $4.00
Shock tower (front) ........cccooieiiiiieiis .. $4.00
Steering blocks, left & right (2) (requires 5x11x4mm bearlngs) ....... $3.00

Steering blocks, Rustler/Stampede/Bandit (2), 6061-T6
aluminum (blue-anodized)/ 5x11mm ball bearings (4)
Steering blocks, Rustler/Stampede/Bandit (2), 6061-T6
aluminum (green-anodized)/ 5x11mm ball bearings (4).............
Steering blocks, Rustler/Stampede/Bandit (2), 6061-T6
aluminum (red-anodized)/ 5x11mm ball bearings (4)
Suspension arms (front) (2)........cccccvevveveniiiiinienns
Suspension pins, 44mm (2) w/ E-clips...
Suspension screw pin set, steel (hex drive) (reqwres part #2640

for a complete suspension pin set) (Rustler, Stampede, Bandit) .. $4.50
Tie bar, fIDErglass.........cooiiiiiiiiiii s $4.00
Turnbuckles, camber link, 39mm (69mm center to center)

(assembled with rod ends and hollow balls) (1 left, 1 right) ............ $7.00
Turnbuckles, toe link, 61mm (96mm center to center) (2)

(assembled with rod ends and hollow balls) (fits Stampede) .......... $8.50

REV. 150326 1250



Page 2 Stampede VXL: TQi Traxxas Link Enabled 2.4GHz Radio (36076-1) Parts List

Hardware 2970

1926
1726
1552

1834
3934
1633
2586

2745
3647
1747
1985
5525
5347
2742X
3236
3347
2577
4859
2578
2552
2579
3646
2580
2591
2582
2592
2575
2554
3932
3931
3937
2542
2743
5529

3642X
2754
2746

1552

3342
3340
2072
3351R

3725

3352

3347
3931
2074
2070
2075
3350R

3355R

3343

2854X
2849X
2843X
2857X
2976
2938

1726
6548

2914
2927X

2975

Antenna caps, vinyl (2)/ antenna spool .. $2.00
Antenna, tube (1)/ vinyl antenna cap (1)/ wire retainer (1) ............. $1.00
Backplate screws (3x8mm cap-head machine) (6)/washers
(6)/ wrench $3.00
Body clips (12) (standard size) $2.00
Body clips, heavy duty (12) $3.00
E-clips/ C-rings $2.00
Head screws, 3x15mm cap-head machine (hex drive) (6) (TRX

$2.50
Nuts 3mm nylon locking (12).. $2.00
Nuts, 4mm flanged nylon locking (steel, serrated) (8).. $3.25
Nuts, 4mm nylon locking (10) .. $2.00
PTFE-coated washers, 5x8x0.5mm (20) (use with ball bearings)... $2.00
Rod ends (12)/ hollow balls (12).........ccrvveiiiiiriiiiiieiienee e $9.00
Rod ends, Revo (large) with hollow balls (12) $9.00
Rod ends, short (6)/ hollow balls (6) $4.00
Screws, 2.5x12mm cap-head machine (6) $2.50
Screws, 2.5x5mm button-head machine (hex drive) (6) ................. $2.50
Screws, 3x10mm button-head machine (hex drive) (6) .. $2.50
Screws, 3x10mm flat-head machine (hex drive) (4).........cccoccevevens $1.75
Screws, 3x12mm button-head machine (hex drive) (6) $2.50
Screws, 3x12mm countersunk machine (6) (hex drive) ... $2.50
Screws, 3x15mm button-head machine (hex drive) (6) $2.50
Screws, 3x15mm flat-head machine (hex drive) (6)..........ccccceeenunes $2.50
Screws, 3x20mm button-head machine (hex drive) (6) $2.50
Screws, 3x23mm button-head machine (hex drive) (6) ... $2.50
Screws, 3x30mm button-head machine (hex drive) (6) ... $2.50
Screws, 3x40mm button-head machine (hex drive) (6) $3.00
Screws, 3x6mm button-head machine (hex drive) (6) . $2.50
Screws, 3x6mm cap-head machine (hex drive) (6)... $2.50
Screws, 3x6mm flat-head machine (hex drive) (6) ... $2.50
Screws, 3x8mm flat-head machine (hex drive) (6) ... $2.50
Screws, 4x12mm button-head machine (hex drive) (6) .. $2.50
Screws, 4x12mm countersunk machine (hex drive) (6) .................. $2.50
Set (grub) screws, 3mm hardened (12) .........ccccooueeiiieiiiieeniieeenins $3.00
Shim set, 3x7x1mm (2), 3x6x0.5mm (4), 3x7x2mm (2)/ hollow
ballS, CAPLUrEA (4) ..veevierieierieie ettt $3.50
Shoulder screws, Ultra Shocks (3x12 hex drive) (6). $3.00
Stub axle pins (4) ......cceeveeenenne $1.00

Washers, 3x6mm metal (12

Motors & Electronics

Backplate screws (3x8mm cap-head machine) (6)/washers
(B) WIENCH ..
Bullet connectors, male, 3.5mm (3) / heat shrink............c...ccccouenee.
Cooling fan, Velineon VXL-3s ESC ...
Gear set (for 2070, 2075 servos)
Motor, Velineon 3500, brushless (assembled with 12- gauge wire

and gold-plated bullet CONNECLOrS) ........ccccuevriiiieiiiieiriii e $120.00
Mounting plate, speed control (VXL-3s) (Bandit, Rustler,

=0 1=To 1= USSP $3.00
Rebuild kit, Velineon 3500 (includes 5x11x4mm ball bearings (2),
2.5x5mm BCS (with threadlock) (4), front and rear bushings)........ $13.00

Screws, 2.5x5mm button-head machine (hex drive) (6)
Screws, 3x8mm flat-head machine (hex drive) (6)
Servo case/gaskets (for 2056 and 2075 waterproof servos).. .
Servo, digital high-torque (ball bearing)........cccccevveiriiiiiieeenns
Servo, digital high-torque (ball bearing), waterproof.......................
Velineon VXL-3s Brushless Power System, waterproof (includes
VXL-3s waterproof ESC, Velineon 3500 motor, and speed control
mounting plate (part #3725))
Velineon VXL-3s Electronic Speed Control, waterproof

(brushless) (fwd/rev/brake)...........cccooueeeiiiiiiiieiieesc e $220.00
Wire, 12-gauge, silicone (Maxx Cable) (650mm or 26 inches) $6.00

Radio System, Batteries & Chargers
10000mAh 7.4v 2-Cell 25C LiPo Battery ..
4000mAh 11.1v 3-Cell 25C LiPo Battery
5800mAh 7.4v 2-Cell 25C LiPO Battery .........ccocoeeerieeiiiiennieennns
6400mAh 11.1v 3-Cell 25C LiPo Battery .. .
AC to DC converter, 40W
Adapter, Traxxas iD Lipo Battery. (Connects Traxxas iD
batteries to LiPo chargers with separate balance ports)
Antenna, tube (1)/ vinyl antenna cap (1)/ wire retainer (1).............
Battery door, TQ 2.4 transmitter (replacement for #6516, 6517,
6528, 6529, 6530 transmitter)
Battery, Power Cell AA Alkaline (4)...
Charger, A/C, 500 mA (7 cell, NiMH) (includes plug inserts for
US/Japan, European Union, United Kingdom, and Australia)...
Charger, DC, 4 amp (6 - 7 cell, 7.2 - 8.4 volt, NIMH) ...............cc...

$250.00

$25.00
$32.00

Charger, EZ-Peak Plus, 4 amp, LiPo/NiMH with iD Auto
Battery Identification
Communication link, telemetry expander-...
Cover plate, Traxxas Link Wireless Module
Gear set (for 2070, 2075 servos)
Mount, telemetry expander (fits Stampede 2WD)
Mount, temperature sensor (electric motors)/ wire tie/
thermal pad
Receiver, micro, TQi 2.4GHz with telemetry (5-channel)
Seal kit, expander box (includes o-ring, seals, and silicone
grease)
Sensor, auto-detectable, temperature
Sensor, auto-detectable, voltage
Sensor, RPM (short)/ 3x4mm BCS (2) ...
Sensor, temperature and voltage (long)
Servo case/gaskets (for 2056 and 2075 waterproof servos)...........
Servo, digital high-torque (ball bearing)
Servo, digital high-torque (ball bearing), waterproof
Telemetry expander, TQi radio system
Telemetry GPS module, TQi radio system
Telemetry trigger magnet holders, spur gear/ magnet, 5x2mm
(1)/ 3x8mm CCS (3)/ 3x10mm CCS (3)
Telemetry trigger magnet, 5X2mm (1)
TQi 2.4 GHz radio system, 2-channel Traxxas Link enabled (2-ch
transmitter, 5-ch micro receiver)
TQi 2.4 GHz radio system, 4-channel with Traxxas Link

Wireless Module (4-ch transmitter, 5-ch micro receiver)........... $200.00
Transmitter, TQi Traxxas Link enabled, 2.4GHz high output, 2-

channel (transmitter only) ..........ccooveiieiieiie e $100.00
Transmitter, TQi Traxxas Link enabled, 2.4GHz high output,
3-channel (transmitter 0Nly) .......cccoooveiieiieiieieeee e $105.00
Transmitter, TQi Traxxas Link enabled, 2.4GHz high output,
4-channel (transmitter only)
Traxxas Link Wireless Module
Velineon VXL-3s Electronic Speed Control, waterproof
(brushless) (fwd/rev/brake)
Wire retainers, gear cover/ 3x4mm BCS (2

Ready-To-Race Model

36076-1 Stampede VXL: 1/10 Scale Monster Truck with TQi Traxxas
Link Enabled 2.4GHz Radio System

Rear Suspension
5116 Ball bearings, blue rubber sealed (5x11x4mm) (2) ...
3638 Shock tower (rear)
3752  Stub axle carriers (2) (requires 5x11x4mm bearings)
3652A Stub axle carriers, Rustler/Stampede/Bandit (2), 6061-T6

6525
6512
2072
6557
6535

6518
6552

6526
6527
6522
6521
2074
2070
2075
6550
6551
6538

6540
6509X

6507X
6528
6529
6530

$115.00
$45.00

6511
3355R

6537

aluminum (blue-anodized)/ 5x11mm ball bearings (4)............... $35.00
3652G Stub axle carriers, Rustler/Stampede/Bandit (2), 6061-T6
aluminum (green-anodized)/ 5x11mm ball bearings (4)............. $35.00

3652X Stub axle carriers, Rustler/Stampede/Bandit (2), 6061-T6

aluminum (red-anodized)/ 5x11mm ball bearings (4)
2753X Stub axles, rear (2)
3655X Suspension arms, left & right
3640 Suspension screw pin set, steel (hex drive) (reqwres part #2640

for a complete suspension pin set) (Rustler, Stampede, Bandit) . $4.50
1965 Piston head set, (2 sets of 3 types)/ shock collars (2)/ spring

FEEAINETS (2) .ttt $2.50
1942 Rod ends (16 long & 4 short)/ hollow ball connectors (18)/ ball

screws (2)
2742X Rod ends, short (6)/ hollow balls (6) ..
2760 Shock caps, aluminum (2)
1664T Shock shafts, hardened steel, tltanlum nitride coated (long)

(2) it $10.00
2765T Shock shafts, hardened steel, titanium nitride coated (X-

long) (2)
1664 Shock shafts, steel, chrome finish (long) (2)...
2765 Shock shafts, steel, chrome finish (X-long) (2)
4760 Shocks, long (hard-anodized & PTFE-coated T6 aluminum)

W/O SPriNgS (froNt) (2)..cveieeiieiieiie e $25.00
4761 Shocks, X-long (hard-anodized & PTFE-coated T6 aluminum)

w/o springs (rear) (2)
Silicone shock oil (30 wt

Shocks (Pro-level Aluminum)

1666

2664 Big Bore shock cylinder (long) (1) .....
2666 Big Bore shock cylinder (XX-long) (1)
5862 Big Bore shocks (hard-anodized & PTFE-coated T6

aluminum) (assembled with TiN shafts and springs) (front &
FEATY () 1ttt ettt

REV. 150326 1250



Page 3 Stampede VXL: TQi Traxxas Link Enabled 2.4GHz Radio (36076-1) Parts List

aluminum) (assembled with TiN shafts) w/o springs (front) Spur Gears &Pinion Gears

13 OO $30.00 2416 Gear, 16-T pinion (48-pitch) / set screw ...
2662 Big Bore shocks (XX-long) (hard-anodized & PTFE-coated T6 1918  Gear, 18-T pinion (48-pitch) / set screw

aluminum) (assembled with TiN shafts) w/o springs (rear) (2) $30.00 2419 Gear, 19-T pinion (48-pitch) / set screw
2669 Piston head set (2-hole (2)/ 3-hole (2))/ shock mounting 2423 Gear, 23-T pinion (48-pitch) / set screw

bushings & washers (2) (Big Bore Shocks) .......cccceevviviiieiinnnns $2.50 2426 Gear, 26-T pinion (48-pitch)/set screw
2362 Rebuild kit, Ultra shocks (for 2 shocks .........cccecvviiiiiiicicnnn, $2.50 2431 Gear, 31-T pinion (48-pitch) / set screw

1942 Rod ends (16 long & 4 short)/ hollow ball connectors (18)/ ball 4725 Gear, pinion (25-tooth) (48-pitch) / set screw.
SCIEWS (2) 1uveveeiereierciie ettt . 4728 Gear, pinion (28-tooth) (48-pitch)/ set screw

2742X Rod ends, short (6)/ hollow balls (6) 4676 Spur gear, 76-tooth (48-pitch) (for models with Torque-

2667 Shock caps, aluminum (2)/ (Big Bore Shocks) Control slipper ClUtCh) ......oooiiiiii e

1664T Shock shafts, hardened steel, titanium nitride coated (long) 4683 Spur gear, 83-tooth (48-pitch) (for models with Torque-
22 ISR RPRRR $10.00 Control slipper clutch)

2656T Shock shafts, hardened steel, titanium nitride coated (xx- 4686  Spur gear, 86-tooth (48-pitch) (for models with Torque- Control
long) (2) SlPPEr CIUICN) ...

1664  Shock shafts, steel, chrome finish (long) (2)...
2656  Shock shafts, steel, chrome finish (xx-long) (2)..
1765 Silicone diaphragms (4) .
1666  Silicone Shock Ol (30 WE).......ecuviirieriiniiieieierereee s $2.00
2668 Spring retainers, upper & lower (2)/ spring pre-load spacers:

Imm (4)/ 1.5mm (2)/ 2mm (2)/ 4mm (2)/ 8mm (2) (Big Bore

4690 Spur gear, 90-tooth (48-pitch) (for models with Torque-
Control slipper clutch
Steering Componen

5347 Rod ends, Revo (large) with hollow balls (12)...........cccoceiiiiiennenns
1844 SEIVO SAVEN .....eeiiiiiiiiiii ittt

SNOCKS) cvvoovveeeeeeeeeseeeeeseeee e eseseesssseseseeeesessesneseeoeeseeeeese s $5.50 2336A Turnbuckles, aluminum (blue-anodized), toe links, 61mm (2)
; f hit ) 2 (fits #5862 (assembled w/ rod ends & hollow balls) (fits Stampede)
O iminum Big BOre Atk e e $6.00 (requires Smm aluminum wrench #5477)...

2336X Turnbuckles, aluminum (red-anodized), toe links, 61mm

i hi i 2) (fits #5862
2859  Springs, fear (white) (progressive rate) (2) (fits #588 $8.00 (2)(assembled with rod ends & hollow balls) (fits Stampede)

aluminum Big Bore shocks

(requires 5mm aluminum wrench #5477).......ccccooeniiiiniecninen.
Shocks (Ultra ShOCkS) 3645 Turnbuckles, toe link, 61mm (96mm center to center) (2)
3642  Attachment screws, shock (3x12mm shoulder screws) (6).... $3.00 assembled with rod ends and hollow balls) (fits Stampede) ..........

3765A Body, Ultra Shock(s) (long) (grey) (2)
3766A Body, Ultra Shock(s) (XXL) (grey) (2)...
2362 Rebuild kit, Ultra shocks (for 2 shocks
1942 Rod ends (16 long & 4 short)/ hollow ball connectors (18)/ ball
screws (2)

2742X Rod ends, short (6)/ hollow balls (6)..
3767 Shock caps (2)/ shock bottoms (2) ...

3767A Shock caps, aluminum (blue- anodlzed) (4) (fits all Ultra

Suspension Linkage
5525 Rod ends (12)/ hollow balls (12)...............
5347 Rod ends, Revo (large) with hollow balls (12).
1844  Servo saver
2640 Suspension pins, 44mm (2) W/ E-ClipS......c.cooiiiirriiiiiiieeieesieee
3640 Suspension screw pin set, steel (hex drive) (requires part #2640
for a complete suspension pin set) (Rustler, Stampede, Bandit) ....
3737A Turnbuckle, aluminum (blue-anodized), camber link, front,

SROCKS) 1.ttt $14.00
3767G Shock caps, aluminum (green-anodized) (4) (fits all Ultra §$4m1r2 g(l))r(izfﬁgstlgiawrgggr?ilcil(sg/;n))lIow balls (2)(See part

ShocKS) ...oocvrvenene e s $14.00 3738A Turnbuckle, aluminum (blue-anodized), camber link, rear,
3767X Shock caps, aluminum (red-anodized) (4) (fits all Ultra 49mm (1) (assembled w/ rod ends & hollow balls) (See part

ShOCKS) ..veiiiiiiiieiiieceeceeeiene s s $14.00 3741A for complete camber 1K SE) vooooooooooooooooooooooooo
1664T Shock shafts, hardened steel, titanium nitride coated (long) 3737 Turnbuckle, aluminum (red-anodized), camber link, front

(2) oo s R TTR— $10.00 39mm (1) (assembled wirod ends)/hollow balls (2)(See part
2656T Shock shafts, hardened steel, titanium nitride coated (xx- 3741X for complete camber liNK Set).........cccovvveveeeeirresrernnnns

long) (2) « $10.00 3795 Tyrnbuckle, aluminum (red-anodized), camber link, rear,
1664 Shock shafts, steel, chrome finish (long) (2)... $3.00 49mm (1) (assembled with rod ends & hollow balls)(See part
2656  Shock shafts, steel, chrome finish (xx-long) (2).. $3.00 3741X for complete camber link set)

1765  Silicone diaphragms (4).. $2.00  3741A Turnbuckles, aluminum (blue-anodized), camber links, front,

1666  Silicone shock oil (30 wt) . $2.00 39mm (2), rear, 49mm (2) (assembled w/rod ends & hollow

3769  Spring pre-load spacers: 1mm (4)/ 2mm (2)/ 4mm (2)/ 8mm (2)..... $4.00 DallS) WIENCH ..ot

3768  Spring retainers, upper & lower (2)/ piston head set (2-hole (2)/ 3- 2336A Turnbuckles, aluminum (blue-anodized), toe links, 61mm (2)
hole (2)) $ (assembled w/ rod ends & hollow balls) (fits Stampede)

3758 Springs, front (black) (2).
3758T Springs, front (blue) (2)...
3758A Springs, front (green) (2)
3758X Springs, front (white) (2)

3757 Springs, rear (black) (2)
3757T Springs, rear (blue) (2)....
3757A Springs, rear (green) (2)
3757R Springs, rear (red) (2.9 rate) (2)
3757X Springs, rear (white) (2)

(requires 5mm aluminum wrench #5477).......cccccvveeviiiinienninens
3741X Turnbuckles, aluminum (red-anodized), camber links, front,

39mm (2), rear, 49mm (2) (assembled w/ rod ends & hollow

DallS)MWIENCH L.
2336X Turnbuckles, aluminum (red-anodized), toe links, 61mm

(2)(assembled with rod ends & hollow balls) (fits Stampede)

(requires 5mm aluminum wrench #5477).......ccccocvveeviiiinienninens
$4.00 3644 Turnbuckles, camber link, 39mm (69mm center to center)

(assembled with rod ends and hollow balls) (1 left, 1 right) ............
3643 Turnbuckles, camber link, 49mm (82mm center to center)

4957  Springs, red (for Ultra Shocks only) (2.5 rate) (f/r) (2) .......c.c..... $2.50 : h
3760 Ultra Shocks (black) (long) (complete w/ spring pre-load (assembled with r(_)d ends and hollow balls) (1 left, 1 right) ............
spacers & springs) (front) (2) $18.00 3645 Turnbuckles, toe link, 61mm (96mm center to center) (2)

3762 Ultra Shocks (black) (xx-long) (complete w/ spring pre-load (assembled with rod ends and hollow balls) (fits Stampede) ..........
spacers & springs) (rear) (2) Team Traxxas Items
3760A Ultra Shocks (grey) (long) (complete w/ sprlng pre load spacers & 2514  Decal Sheet, racing SPONSOFS .......c.vuieeerireieeiseinieeneeiessenees

SPIINGS) (2).11-eerrvveessrnneis $18.00 9950  Official Team Traxxas racing decal set (flag logo/ 6-color).......
3762A Ultra Shocks (grey) (xx- Iong) (complete w/ spring pre-load 9909 Traxxas racing banner, red & black (3X7 fe€t)......c.cococveevernn....

Tires & Wheels

3793 | haft (sl hatt) / sori : 3.00 5116 Ball bearings, blue rubber sealed (5x11x4mm) (2)
nput shaft (slipper Shaft) / Spring pin..............ccvovcvves o e $3.00 5854 Hub retainer, 17mm hubs, M4 X 0.7 (4) (use with #5853X,
5552X Rebuild kit, slipper clutch (steel disc/ friction pads (3)/ spring (2)/ #6856X, #6469)
2554 gln/4.0m3m6NL o 5.'(1)mr2 NL (;»h """ d """" 6 """"""""""""" $éggg 3647 Nuts, 4mm flanged nylon locking (steel, serrated) (8) .
grews, xomm cap-head mac 'ne, (hex drive) (6)..........cccvverrnns ) 1985 PTFE-coated washers, 5x8x0.5mm (20) (use with ball bearings)...
5556  Slipper pressure plate & hub (aluminum alloy) ........ccccocveeviirnnineen. $8.00 1647  Silicone grease

REV. 150326 1250



Page 4 Stampede VXL: TQi Traxxas Link Enabled 2.4GHz Radio (36076-1) Parts List

2754
3668A

3669A

3668

3669

1970
3670
4791
4780
4790
4790R

1870
3671
1654
3654

5853X

5353
5480X
3772A
5576A
3772
5576
3673
3672
3675
3674
3774
5572

1552

4607
5116
3792
5478
3691
3691A
5148
3696
3793
2381X

2382
2388X
5652X
2554
3931
3185X
1647

5556
3195

5525
5347
3737A

3738A

3737

3738

StUD AXIE PINS (4) weveevierieienieeie ettt $1.00
Tires & wheels, assembled, glued (2.8") (All-Star black chrome

wheels, Talon tires, foam inserts) (electric rear) (2).......ccccoeeveeene $31.00
Tires & wheels, assembled, glued (2.8") (All-Star black chrome

wheels, Talon tires, foam inserts) (nitro rear/ electric front) (2)....... $31.00
Tires & wheels, assembled, glued (2.8") (All-Star chrome

wheels, Talon tires, foam inserts) (electric rear) (2) .......ccocueene $30.00
Tires & wheels, assembled, glued (2.8") (All-Star chrome

wheels, Talon tires, foam inserts) (nitro rear/ electric front)

(2) cot $30.00
Tires, low-profile spiked 2.2" (2) $14.00
Tires, nitro and electric Stampede terra (2) . $16.00
Tires, Pro-Trax mini-spiked 2.2" (rear) (2) $14.00
Tires, Pro-Trax ribbed 2.2" (front) (2) $14.00
Tires, Pro-Trax spiked 2.2" (rear) (2) $14.00
Tires, Pro-Trax spiked 2.2" (soft-compound)(rear) (2)/ foam

inserts (2) $17.50
Tires, Sledgehammer terra-spiked (2) .. . $16.00
Tires, Talon 2.8" (2)/ foam inserts (2) $20.00
Wheel hubs, hex (2)/ stub axle pins (2) ......cccoeveeerierriieeiiieerieee $2.00
Wheel hubs, hex (tall offset, Rustler/Stampede front) (2)/ axle

PINS (2.5XL0MM) (2) 1.vtivierienieieeiieeieee st ee e eee e $3.00
Wheel hubs, splined, 177mm, short (2), long (2)/wheel nuts,

splined, 17mm (4) (blue-anodized)/ hub retainer M4x0.7

(4)/axle pin (4)/wrench, 5mm $40.00
Wheel nuts, splined, 17mm (blue-anodized) (4) . . $10.00
Wheel wrench, splined, 17mm ...........ccccoevnennn. $3.00
Wheels, All-Star 2.8" (black chrome) (electric rear) .. $9.00
Wheels, All-Star 2.8" (black chrome) (nitro rear/ electric front) (2)..  $9.00
Wheels, All-Star 2.8" (chrome) (electric rear)........ccccoeeveiiennene $8.00
Wheels, All-Star 2.8" (chrome) (nitro rear/ electric front) (2)..... $8.00
Wheels, chrome (2.2") (front) (2) $6.00
Wheels, chrome (2.2") (rear) (2) .. $6.00
Wheels, dyeable nylon 2.2 (front) (2) .....cccooereerieiiniieiieieeien $4.00
Wheels, dyeable nylon 2.2 (rear) (2).......cccooverieereeiieeiieeieeieeenene $4.00
Wheels, Twin-Spoke 2.8" (chrome) (electric rear) (2) ................ $8.00

Wheels, Twin-Spoke 2.8" (chrome) (nitro rear/ electric front)
2) . $8.00

Transmission Compon
Backplate screws (3x8mm cap-head machine) (6)/washers
(B) WIENCN L.ttt
Ball bearings (5X11X4AMM) (8)...cccveiuieiiiiiieiieiieieeeee s

Ball bearings, blue rubber sealed (5x11x4mm) (2) ... .
Dust cover/rubber plug (wW/ screws) (telemetry ready) ....................
Flat wrench, 8mm (blue-anodized aluminum)

Gearbox halves (1&r) (black) w/ idler gear shaft

Gearbox halves (1&r) (grey) w/ idler gear shaft $8.00
Grease, white lithium..............cc.ccceeveeeiennn. $3.00
Idler gear, steel (30-tooth)....... $3.00
Input shaft (slipper shaft) / spring pin.........ccccceeveenns T, $3.00
Main diff with steel ring gear/ side cover plate/ screws (Bandit,

Stampede, RUSHIET) ........cveiiierieeee st $6.00
Planet gears (4)/ planet shafts (4)/ sun gears (2)/sun gear

alignment shaft (1) all hardened steel............ccceeiiiiiiiiiieiiiees $6.00
Planetary gear differential with steel ring gear (complete) (fits

Bandit, Stampede, RUSHET) ..o $15.00
Rebuild kit, slipper clutch (steel disc/ friction pads (3)/ spring (2)/

pin/ 4.0mm NL (1)/ 5.0MM NL (1)).ereeiieeeiiieiiieeeieee e $10.00
Screws, 3x6mm cap-head machine (hex drive) (6)............c.ccceevene $2.50
Screws, 3x8mm flat-head machine (hex drive) (6) .........ccceevvveennnes $2.50
Screws, 3x8mm washerhead machine (large head for motor

[Lae TV 3 (<) ISP $1.50
SilicoNe grease.........ccccvevieeieiiecieeeee $2.00
Slipper pressure plate & hub (aluminum alloy) $8.00
Top drive gear, steel (22-t00th) ..............cc.co...... $3.00

Turnbuckles & Threaded Rods
Rod ends (12)/ hollow balls (12)
Rod ends, Revo (large) with hollow balls (12)
Turnbuckle, aluminum (blue-anodized), camber link, front,
39mm (1)(assembled w/rod ends)/hollow balls (2)(See part

3741A for complete camber link Set) ........ccoccoeviiiiiiiniiniies $6.00
Turnbuckle, aluminum (blue-anodized), camber link, rear,

49mm (1) (assembled w/ rod ends & hollow balls) (See part

3741A for complete camber link Set) .......ccooviiiiiiiiiiiiiieies $6.00
Turnbuckle, aluminum (red-anodized), camber link, front,

39mm (1) (assembled w/rod ends)/hollow balls (2)(See part

3741X for complete camber link set) ... $6.00
Turnbuckle, aluminum (red-anodized), camber link, rear,

49mm (1) (assembled with rod ends & hollow balls)(See part

3741X for complete camber link Set) .......cccocvviiiiiiiiiiiiiees $6.00

3741A Turnbuckles, aluminum (blue-anodized), camber links, front,
39mm (2), rear, 49mm (2) (assembled w/rod ends & hollow
balls)/ wrench
2336A Turnbuckles, aluminum (blue-anodized), toe links, 61mm (2)
(assembled w/ rod ends & hollow balls) (fits Stampede)
(requires 5mm aluminum wrench #5477)........cccocvveniciicinennn.
3741X Turnbuckles, aluminum (red-anodized), camber links, front,
39mm (2), rear, 49mm (2) (assembled w/ rod ends & hollow
balls)/wrench
2336X Turnbuckles, aluminum (red-anodized), toe links, 61mm
(2)(assembled with rod ends & hollow balls) (fits Stampede)
(requires 5mm aluminum wrench #5477)........cccocvviiicnicninennn.

3644  Turnbuckles, camber link, 39mm (69mm center to center)
(assembled with rod ends and hollow balls) (1 left, 1 right) ............
3643 Turnbuckles, camber link, 49mm (82mm center to center)
(assembled with rod ends and hollow balls) (1 left, 1 right) ............
3645 Turnbuckles, toe link, 61mm (96mm center to center) (2)

(assembled with rod ends and hollow balls) (fits Stampede)

If you have questions or need technical assistance, call Traxxas at:

1-888-TRAXXAS

(1-888-872-9927) (U.S. residents only)

For orders, calls outside the U.S., and other information, call 972-549-3000,
or fax to 972-549-3011 e-mail Traxxas at support@Traxxas.com

TRAXXAS.coMm

REV. 150326 1250



